[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02F
0.015
0.0
0.005

10
1

Ratio

0.8+

30 I WU R . N SR
1072 107 1

10 0?
TP vertr (cr%)

—=— DQMstep3_SMS_CKF

Effici —e— DQMstep3_SMS_default
ICIeNd _,__ pQMstep3_SMS_ckfPixelLess

~ 0.021 : : : : :
Boss |-l
016F : : : :
014F
012F
0.01F
0.008F
0.006F
0.004F
0.002F
O- H d H a H

1.2 : Tt : B E

T

°85 =20 -10 0 10 20 30
TP vert z (cm)

..........

EHHCIRRCY S 8T

..........

..........

Ratio

[ Efficiency vs. sim PV z |
~ 0.05 X T
= T TUUUUSUUTTT VL SOUUTT T
S e s A A A
£ : R SRS RO N
7 0-04 A
R S R e e R
P : : : : : : :
£0.03 e R A
o : : : : : :
e e S A S I AR
® : A :
0.02 R (A N A R A A
0.015F -+ :
0.0
0.005

0
il

............

Ratio

0.9

80 =15 -10 -5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


